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(—#RKEN) H27.6.11
HA A KEX BEAH TN XEARER X EARER R EEE
(ANFEHF) (BT -1ETH)
RRE 13 13 13 12 12
RS =05 7 10 7 7 7
—H#% KB E 8 11 8 7 7
RiE 9 21 9 9 8
(H19) Fle 7 12 7 6 5
ZDfk 11 22 11 11 11
&t 55 91 55 52 50
RRE 11 12 11 11 11
RS =05 7 8 7 7 6
“HiAx KBRE 9 9 9 9 8
RiE 10 11 10 10 9
(H20) FET 5 7 5 5 5
ZDfk 7 8 6 6 6
&t 49 55 48 48 45
RRE 9 11 9 9 9
B =05 6 5 6 6 6
=H4 KRE 7 12 7 5 5
RiE 11 15 11 11 11
(H21) Eilig 0 - - - _
Z Dk 5 12 5 5 4
&t 38 55 38 36 35
B 8 16 8 8 8
RS =05 5 7 5 5 5
oA 4 KB E 4 8 4 4 4
RiE 7 13 7 7 6
(H22) Eilig 0 - - - _
ZDfk 4 9 4 4 4
&t 28 53 28 28 27
RRE 7 10 7 7 6
R =05 4 3 4 4 4
THAE KB E 5 6 5 5 5
RiE 8 9 8 7 7
(H23) Eilig 0 - - - _
Z Dk 8 11 8 8 8
&t 32 39 32 31 30
RRE 6 6 6 6 6
RS =05 4 6 4 4 4
NEHE KB E 5 2 3 3 3
RiE 8 3 6 6 4
(H24) FET 1 3 1 1 1
Z Dk 6 7 5 5 5
&t 30 27 25 25 23




(—#RKSEA) H27.6.11
HARI KX EEAH [REEER XEMRER TEIREH BANGER
(NZRF) (BT -1ETH)
RRE 4 4 4 4 4
FB=0E 6 3 3 3 3
tHi& KB & 5 7 5 5 5
RiE 9 5 5 5 5
(H25) AHP 3 3 3 3 3
ZDfth 8 5 5 5 5
Bt 35 27 25 25 25
RRE 8 7 7 7 7
FB=0E 4 3 3 3 3
(;}éﬂé) KBRE 5 6 5 5 5
RiE 8 3 4 4 2
(H26) E3li] 3 1 1 1 1
ZDfth 15 7 6 6 6
Bt 43 27 26 26 24
RRE 8 10 8 8
S FB=0E 6 4 6 6
4 KBRE 4 5 4 4 .
(FrlBE) N 9 3 2 2 (ERH)
(H27) Elig] 5 3 3 3
Z D 16 3 3 3
&t 48 28 28 28 0
RRE 74 89 73 72 63
R =5 49 49 45 45 38
KBRE 52 66 50 47 42
& i g 79 83 64 63 52
Eil 24 31 20 19 15
ZDith 80 84 53 53 49
_ B 358 402 305 299 259
X1 N\BEDOXEMZEE26R D5, F20 0228 &1 (RiE24)
(Z#KFEN) H27.6.11
HARI KERX EEAH [REEER XEMRER TEIREH BANGER
(NZRF) (BT -ETH)
RRE 1 1 1 1
—ggx | BFEEAE 1 3 1 1
(FrlEE) KIRE 1 0 1 1 TR27E4R2481T
HiE 1 0 0 0 .
(H25) B i 0 0 0 1)
Bt 5 4 3 3
RRE 1 3 1 1
4 | BREEAE 1 0 0 0
(FrlBE) KRE 1 0 1 1 (BRH)
HiE 1 0 0 0
(H26) B i 0 0 0
Bt 5 3 2 2
RRE 2 4 2 2
FB=0E 2 3 1 1
A = KBRE 2 0 2 2
= i 2 0 0 0
Eiligl 2 0 0 0
Bt 10 7 5 5
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(Z#KEN) H27.6.11
HA A KEX EPNER EEEN XEARER ZEAREHR R EEE
(ANFEHF) (BB -1ETHED)
RRE 8 39 8 8 7
RS =05 4 6 3 3 2
—Hx ARE 6 24 6 6 5
(H20) okics 6 8 6 4 4
Eilig! 1 2 1 1 1
Bt 25 79 24 22 19
RRE 8 13 7 7 6
R =05 6 6 6 6 5
—HE KRB 4 9 3 3 3
(H21) RNiE 6 9 6 6 5
Eil 1 4 1 1 1
&t 25 41 23 23 20
RRE 8 10 5 4 4
RS =05 5 4 4 3 3
=H=E PN 5 14 4 1 1
(H22) okics 6 ! 6 S S
Eil 1 2 1 1 1
it 25 37 20 14 14
RRE 8 9 6 6 6
FRB =05 5 6 4 3 3
P KRB 5 7 5 5 5
(H23) Loki:; 6 4 6 4 4
Eil 1 1 1 1 1
it 25 27 22 19 19
RRE 8 3 3 3
RBA=E 5 2 2 2
A KIRE 5 6 4 3 TR27E3A18BIET
(H24) okics 6 0 0 0
Eilg! 1 1 1 1
&t 25 12 10 9
RRE 8 2 2 2
RS =05 5 0 0 0
AAE KRB 5 0 0 0 ()
(H25) ki 8 2 2 2
Eilg! 1 1 1 1
&t 25 5 5 5
RRE 3 5 3 3
+igg | FE=AE 3 5 3 3
(FHEIEE) KIRE 2 2 2 2 (ERH)
RiE 2 3 3 3
(H26) FE _ _ _ _
it 10 15 11 11
RRE 4 6 3 (%1)
4 | FB=RE 2 3 2
(FEIE) KBRE 2 3 0 (FFtep)
RiE 2 5 1
(H27) FE _ _ _ _
&t 10 17 6 0
RRE 3 6 3
g | BE=NE 2 2 2
(3R 4IE) KBRE 2 2 T (%2) (FF#)
RiE 3 4 3
(H28) FE[D _ _ _ _
&t 10 14 9 0
RRZ 58 93 40 33 23
RS =05 37 34 26 20 13
& = KBRE 36 67 25 20 14
8 A MG 43 42 33 24 18
Eilg! 6 11 6 6 4
Bt 180 247 130 103 72
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